Dividir Enteros (H)

Halle cada cociente.

10+-10= 32+4 = 42 =14 = 35+-5=
55+5= 16 -8 = 25+-5= 10010 =
49 =7 = 3913 = 11214 = 105 =
2613 = 10+-1= 183 = 72 +-8 =
18+6= 104 =8 = 707 = 6+-2=
96 -8 = 91 +13 = 48 =12 = 24 -4 =
50+-5= 45+5= 24 -8 = 202 =
88 -8 = 15411 = 42 =7 = 84 14 =
9+-9= 88+—11= 637 = 9=+11=
1212 = 8+1= 3311 = 24 12 =
65+5= 56 7= 12+1= 144 =12 =
8010 = 52+13 = 549 = 52+4 =
63+-9= 999 = 143+-11= 108 -9 =
32+-8= 605 = 90+9 = 1+-1=
6611 = 404 = 91 +7 = 4=1=
204 = 24 -6 = 205 = 10812 =
48 -6 = 306 = 21 -3 = 80+8 =
42 -3 = 84 +6= 2211 = 15+3=
777 = 28+7 = 123 = 357 =
T+7= 11+11= 36 -3 = 42 =6 =
24 -3 = 27+3= 39+-3= 9+-3=
14+1= 123 = 36 -4 = 15+5=
404 = 56 -4 = 16 -8 = 44 =4 =
24 -2 = 1128 = 36-6= 9612 =
204 = 9 -11= 7010 = 718+6=
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Dividir Enteros (H) Respuestas

10=-10=1
55+5=11
49 +~7=7
26+-13=2
18+-6=3
96+-8=12
50+5=10
88 +-8=11
9+9=1

12+-12=1
65+-5=13
80+-10=8
63+9=7
32+-8=4
66=-11=6
20+-4=5
48 -6=8
42 +-3=14
77+T7=11
7+7T7=1

24 +-3=8
14+1=14
40+-4=10
24+-2=12
20+-4=5

32+-4=8
16+-8=2
39+13=3
10+-1=10
104 +-8=13
91+-13=7
45+5=9
154=11=14
88 +-11=8
8+1=8
56+7=8
52+13=4
99+-9=11
60-+-5=12
40+-4=10
24-6=4
30-6=5
84+-6=14
28 +7=4
11+-11=1
27+3=9
12+3=4
56 -4=14
112+-8=14
9+-11=9

Halle cada cociente.

42 +14=3
25+5=5
112+14=8
I18+3=6
70+7=10
48 - 12=4
24 +-8=3
42 +-7=6
63+7=9
33+11=3
12+-1=12
54+9=6
143 +-11=13
90-+9=10
901+-7=13
20+-5=4
21 +3=7
22+11=2
12+-3=4
36:-3=12
39+-3=13
36 -4=9
16 +-8=2
36+-6=6
70=10=7

35+5=7
100-10=10
10+5=2
72+-8=9
6+-2=3
24+-4-6
20-2=10
84 +-14=6
9 +-11=9
24+-12=2
144 =12=12
52+4=13
108 -9=12
1+-1=1
4+1=4
108 +-12=9
80+-8=10
15+3=5
35+7=5
42 +-6=7
9+-3=3
15+5=3
44 +-4=11
06+-12=8
78 +-6=13
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